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Math 473 Quiz 7 Spring 2017 Name

1) Suppose 20 items were tested for 75 hours. Suppose that the failure times given
below follow an exponential ()\) distribution. - ’,W J e tGort
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2) Does the cox.zph function output below suggest that the proportional hazards
assumption is reasonable?

z<-coxph(Surv(edrel,rel) “histol+instit+age+stage,data=nwtco)

cox.zph(z) . L
rho chisq p € }/J DN/ Sgvies

histol -0.0742 2.94 8.66e-02
instit -0.0456 1.06 3.02e-01

age 0.2082 29.66 5.16e-08

stage -0.1489 11.83 5.84e-04 (9(\
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Full Model: Loglik(model)= -31.3 Loglik(intercept only)= -39.3
Chisq= 15.82 on 5 degrees of freedom, p= 0.0074

Reduced Model: Value Std. Error =z )

Intercept 7.2972 1.5493 4.710 0.000
treat 0.4341 0.4633 0.937 0.3490
size -0.0370 0.0174 -2.126 0.0335
index -0.2692 0.1162 -2.317 0.0205

Log(scale) -0.9901 0.3489 -2.837 0.00455

Loglik(model)= -31.4 Loglik(intercept only)= -39.3
Chisqg= 15.64 on 3 degrees of freedom, p= 0.0013

3) Prostate cancer data is from Collett (2003, p. 10). The full model has 5 predictors,
treat (placebo or DES), size of tumor, Gleason indez for tumor, age and serum. Output
is from a Weibull regression. —
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